In-Class Practice Problems Solutions

Show whether the series is absolutely convergent (AC), conditionally convergent (CC), or
Divergent (D).
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What is the Maclaurin series for f(x)?
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What is the function for the Maclaurin series?
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What is the sum of the series?
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12) If f(x)=x"cos(2x”), then £ (0)=
o A
K2 cosax)s x> 2.2
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14) Estimate J.O 3e™" dx with |error| < 0.000001.
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15) If f(x) is equal to its power series, Z(—l)n %, what is the power series
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representation for f'(x), centered ata = 1?
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16) Find the radius and interval of convergence for the power series, Z(—l T
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